20




1 P4
2 P4
3 P4

‘

P5
P5
P7
P7

A W DN -

‘

2 P10

‘

[uny

P11
2 P11

‘

1 P14
2 P15

2
P15

3
1 P16
2 P16
3 P16
4 P16
> P17

4
1 P18
2 P18

5
1 P19

2 P19






2 1,000 1,500
3 1,000

1 1,000 2,000
1 1,000 2,000
3 1,000 2,000
3 1,000 2,000
3 1,000 2,000
3 1,000 2,000
3 1,000

3 1,000 2,000
3 1,000 2,000
3 1,000

3 1,000

2 1,000 2,000
2 1,000 2,000
2 500 750
3 1,000 2,000
3 1,000 2,000
3 1,000 2,000
3 1,000 2,000
3 1,000 2,000
3 1,000

3 1,000 2,000
3 1,000 2,000
3 1,000 2,000

500




o O O O

.
.
— =

6700 3200 6600 2900
11.6 18.8







1,076

200




— W BEOEHE
bl — T AT T
.

/ ~% NASERE BEHENEHS)

e

i
= i P
| L e e
<+ £
o
(L4 P
¥ =
I
1 i
15 T8
k1 'lil J
oy S
|

o

N
s P TR I
T REmRESE - .

-__q.. Ty 5
R it

g r
o s
| g =

S ‘f.izﬁkhg

ol AR R O S

—

16km

6km 22km

7.1



M71

207

100



1-1

o) M 6.9

1-2

1,000

4,000




| O . . . “







%

75 90 66.1 90
70.3 100
75 90 70.2 100
79.0 90
90%
9,960 6,030 3,930 61 %




100%

%




90%

30

22




"E

B GEiECE










H18.1.10

80

2.94 H18.1.10







O O O ‘




SERREIWEART v FT—2






